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ni; = X491 1221 X481
£
I, Ol===H(Z=41 9,14) 12,278,814,529 12,779,595,690
1. 280= 186,254,726 194,254,320
. YRS 32,915,820 32,915,820
. 0= 12,059,643,983 12,562,425,550
1. JIEFEH 1,016,331,074 1,099,836,29
1. EIXS0SERM(FA 15) 106,051,136 102,788,636
EIXZS0XI=S (20,189,238) (20,018,706)
2. 0IXI== 463,459 339,231
KRUINE=1:1E= 243,554,929 330,374,448
4. =UESS 662,260,000 662,260,000
5 M 24,190,788 24,092,690
It ==HIAl 5,608,640 3,292,590
Lt JIEHESXY 18,582,148 20,800,100
23S A 13,295,145,603 13,879,431,989
=
I. X234 16) 12,000,000,000 12,000,000,000
1. 2SFN=ES 12,000,000,000 12,000,000,000
I == 1,353,522 1,353,522
1. JIEt 2= 1,383,522 1,353,522
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H4971 1271 (2018F 018 012 S H 2018F 03& 31 NHKI)
H4871 1271 (20173 018 0122 H 20173 038 31LNHKI)

ZMBIAN HBASHES (E+9l : )
! - A4 1=27] A4 1=27]

| S 38,210,559 46,484,820
(1) OIXI=& 38,210,559 46,484,820
1. GIXISOIXH 12,087,953 8,362,362
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FAIGIAI B ASHESH (&9 = &)
_ = | iz | oemz | oo _
&S hes ooz | == |zomyo|  auz =

<R8I 121>
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I =J120/2)(2a) (100674.287)|  (100,674,287)
12017.08.31 (R8I 1201Z) | 12,000,000,000] 1,358,522 — [ 5.107.006.418 | 17,108,389.940
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H4871 1271 (20173 018 0122 H 20173 038 31LNHKI)
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A, o, dlEE B 4R NS WAss w1 g U TR
4.
= =) & Dl
KIE LESH(A) 6,604 6,604
XZE RIBAB) - _
SIHEH SHI(C =Min(Ax20%B) - -
KIE 2IR0IERH(A-C) 6,604 6,604
J|L & NIE0IXI=S 6,604 6,604
FIHEE)NH - -
5. =4
M) B FEY @A E AN g e e rhEhe): 9.
- = AHOIXHE(% =gl & D]
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2 Ra7t T8 A dE=AAY &7 dEFTs 24 et 25y
(9] 3 2.
<G 771>
dEd=2= CHEH & HEE(N HEses

&4 668,000 0.6~0.7 4,076
2l=IsH

RO 2,500,000 4.0 100,000

PSS - 20 -
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3|22 - 75 _
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2l 3,168,000 104,076
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b FEASLYY] T vtk ARF Fole] G 9 v A
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2 lge 5 glo Aerd 2 ARAYS 9 AE F gyt
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